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CHM 123; Basic Princlples of Orgauic Chemistry Serial No —---emmmmmememe P i
TIME Al LOWEP 11IOUR 30 MlNU'I‘I.'S N Srgu S - ' r ¢
-~ QI. Whiea combination DF]Jh}'SIcal methods would you E.mploy Jor Lhe separation ol" i
T~ components of 2 mixture of sand and sodium nitrate?! . . [ M) fﬁ o
(A). Sol¥int extraction (wilh water) and cwshlllzallan g
(B) .Crys!allization and stéam distillation- *, - -
(C) Chro natography and [ractional crystallization (D) None of the abmfc ’
QZ. In paJer cluomatographic experiment for o mixture conlaining two components on'y, the
. dislance 11oved by salvent front is 17.0 cm while the distance moved by components A and B
are 7.0 criand 15.0 om respectively, what is the R ¢ value for component B [@h] .
(A)1.88 (B)0.41 (C) 0.88 (D)none of the above £ pao
Q3. A pure sample of an organic compound on combustion analysis gave 361 mg of CO; and
147 my c [ HO. IF the wcighl of the samiple is 2102 g, caIcula[c the weight of carbon in the
sample — [I/l) ]
(A)97.5 mg (B) 98, 5 mg, (C) 99.5 mg (D) none of the above . ™ :
QL- In th e analysis of an orgahic samiple by lhe Dumas mcthod 2 22 cm Qfmlmgen gas was
evolved when 4.32 mg of (he simple was used at 21° C and 743 mmHg. What volume'of
nitrogen ohnmed at STP'i is obtained ﬁnm this cxperiment? IA ]
{.ﬁ,} 2.02 cm’® (B) 2.04 cm® (C) 4 20 cm ? (D) none of the above
Q5. 0.667 gofan urgimlc Sﬂ.l]:np‘e tneated by 111:: I{]cldahl s melhcud gave sufficienc smmonia to '
react with the hydroxonium ions in 22’2-:::3-1 ufﬂ M sulphunl: acid. What is the weight of
nitrogen in the sample? .. . Pl
(A)0.2108 g (B) 0.3008 g (C) 0. 3108 g (D} none of the above A
|
. .
Q. Wh ch of the areanic uroduﬁls is obl:u:lud ‘hen cvnlobutenc is treated with ozone and ¥ |
Jitomp s2f with zinc/ethanioc acid? | [ ] ' {
(A) OCHCH,CH,CHO (B} rIC‘;\..CtI- "‘H»(.u;n u.) anu,:p;:y_g:ﬁ oH M) !
CIIJ OZH.CHO . . 3BT, € - 4
Q7. The minor product ol:rta.med wnan ?-bromc 3~methy1but.1.n= reacis with alcohmlr IOHis |
| i A ,
(A) CH CH(CI—I;)CI—I—CH; fB]CHzm( [CI-I;}CH CH; (C}CH;C{—CI-LJCI—I;( H]fD}*\Tcnc oftke !
“above
. PRI ' 3 . |
Consid ir the saqneucc.ol‘ renctlun bL,luw and answer que.t.huus (8- 1{}], ' Nk , |
A .....
CH,CH=CH, '~ CH CHErCH Er "CH,C=cH 2cess, .
o H.Br .
QH. Wihich of lhf: following I'EEB&DIS IBPT‘-’-Sf:ms AT : ‘ IB]
(A) Zr/HCl (B) ErszC]q- {C) 1% KMnO, (D) Ag(NH,),0H
=@Q9. ; What is the rcagent B? ' y n)
(A) HO (B) Cu(NH;);0H (C)2N: Nﬂﬂlq I~‘Hs (D) Hgswdn 'H* C
Q10. The mym]-: product Cis ldcnnilud ns : ;D]
(A) 1 ]-D1bmmopmpm1e (B) 1,2- Dlhmmﬁprbpnua (c)g Bromopropane (D) 2,2- A
Dibroropropane
4311 9'he number of bonds an atom can form dependson the [C |
« LA). Siructure of the compound to be Irmed (B), Type of bond to be formed :
f(Ci E.ectranic configuration of the element (D). Shape of the molecule to be formed
~ rQll "Which of the following compounds cOMAins gp? hybridized carbon tom - 1.A,]
< (A) Pant-Z-ene (B). Butane (C) Ethanol (D). Propyne
EF Q13 "Which of the. fullowing is out ol' place? I C]

(A). P2ntane (B). 2-Methylbutane (C). Butanc (D). 2,2-Dimethylpropane

- 19)
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ot Q14. Consicer the reactmnbclcw, g ' R .

L Oes

ol T 1)

8 A) L
anic compound whlch. of the followmg is.
EfA(fl?f:lSc:Eo?g(B). Grignard reagent - C) Bromoalkans (D): Bromoallccne

] .1"

s Q15, Pyroligenous acid is'a mixturé-of
v (A). Ether, acid and acetone (B) Ether, 1nethanol and acatone

(C). Acid, methanol and acetone D) ‘Acid, ethano] and acefone .

~ Q16. The boiling pmnt of isomeric 31b0‘hﬂ‘15 changc in thc gther .
(A)3°-:9°~<1 ®)3°> 20>1° (©). 2°>1“>3 (A)l >3 >2

Ql']' In lae ]}l'Epal almn o[‘ chlmoa]kam,u from aicnhn]s one of the followmg catalysts is ‘used:

RN At

(A). SOC1; (B). Z.n-dust -(C) ZnClz {L} ZnSOq pn s AT g ,,- S nrf.ur-q. o

i Q18. T ¢ eliminationreaction of halo- kdnes ylclds e p : ;'{_:[ @]
(A) Alcohols, ('B) A]kcncs {C} Katonea (D) Alkynes B T

_~ Q19. Reagents that attablc a benzcne nng mostly is one of the. followmg " ‘_' } ;- ‘.-_{C ]

(A) Nuutrcphﬂes (B} Nuc]eaphjlcs (C)"Electrophiles ?(D) Carbocauon

! ' Q21.; In the reéciian"‘:-:'éibﬁ;-:-:"

, e . S v hoager, fzy LE : [C
N (A) Phthalic anhydﬂde ) Bue,-ua 12-d1ca:boxy1w acmd Rt 9
" (C) Ethene- 1,2- dma.rboxyhc eum]fdm‘ ['D) Bufane-l 4—tnoxodc R : AN

v .. P . ; PR LAt
.1 S L

Q27. When coal is carbornzed thﬂnam pruducls ure. : : ,
.. (A) Cdke, silt, crude benzole and petrol :(B) Coke; town ‘gas, -::rude benzo]e and coal lar ¢
(C' Coke, coal tar, p::{rnl and cru\_e ban.zc:-lc (D} Cokf: crude benzole town Bas and napht_h.
Q3. On each sp -hybrlchscd carbon, there are; : i ?['
(#.) Three hybrid atornic orbitals aid ulmybndized 2p.atomic orbital , :
(L) Thiee uﬂ]]}'bl'ldlscd atcmnc Orbitals and one hybndlzed 2p atornic’ orbnal g H{*’

(( 2 Two hybndlzed and lWo unhyhndlsed orh:tafs (D) No uuhybnd:sed nrbnal

+ ( 524 The bnnds in. pmpane are sl unger lhan Lhe houds 4in gropenc becausc;. Ji o |
- (A) Propane conlains sp- -orbital'while prnpcnc contains sp’-orbitals S W S
' " (B) Propane contains 5p«0rb1t.J_ while prolmne contains sp:’-orbltal ) v

i'C) Propane contains sp -orbitil while sp -01b1lal
‘D) propane is a liquid wlile propes€ is agas

' H e, I )
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A CHN1225 Bagic Priuciples of Qrganic Chemistry Serial No == u.c—’ ae L
FINE ALLOWLEL 1 HOUR 30 MINUTES Sign '

' m Which physica method would you employ in the separation of components of a mixture
contaning solid cornponent contaminated with solid impurities? (C)
(A). Steam distillat on (B). Chromatography (C). Rl.cryslalhzauon(D} Solvent extraclion

QZ. In a thin layer :ln'omatograpl*uc experiment forn mixture containing two componams only,
the dislance movec by solvent front is 17.0 eim while the distance moVed by components A and
Barc 7.0 cm and 15.0 e respectively, what is the It { value for component A [ & ]
(A)041 (B)0.45 (C)0.88 (D)0.80 - '

K : Q3. A pure sample. of an organic compound on combuslion analysis gave 361 mg of CO; and
iR 147 mg of H;0. If the weight of the sample is 202 mg, calcu!at& the weight of hydrogen in the
I sample [1)]

f (AY0.0173 g fB)GOl'M g.-(C)UDlBBg (D) 0.0163 ..

. Q4. In the analysis of an orgamc sample by 1hB Dumas method;2.22 cm’ of nitrogen gas was,

| j evolved when 4.3 2 mp of the sample was used at 21° C and 743 mmHg What is the weight of

li nitrogen at STP? -+ ... . [‘p]
i \ (A) 21525 mg (3) 2.3250 mg (C) 2 0525 mg (D) none nfihc abuva '

|

Q5. 0.589 g of ar organic sample n'e:ntcd by the, chldahl 5 mcthpd gave sufficient ammonia lo

react with the hylrogen ions in 44.4cm’ of 0:5 M sulphuric acid. What is the weight of nitrogen

[ " inthe sample? [ A ]

(A) 0.6216 g (B) 0. 2036 g (C) 0.6016.g (D) 0. 3-36 g : )

hl X

’f 6. An orpanic o anpound w],th I‘I'I.D].ECUIEII fDl'lTllllE. C,qr_l.;. rsacts 'mth 1 mole of bromine and g1ves
butane-1,4-dial vrhen traate.u with Dﬂ and Zn/AcOH. Which of the upuuns represents the

compound? = . . l CI
A) CH,CHCZ=CH .af_'-rc'_H_;i;:..E;c’cH;-i;‘?? i A
Q'f CDns;de.rih s cquauou ’ gl , _-;_
(CH,CH,),CHIgX HEL L " gy e _
The organic product X from t.he above equation is ' [-|A] :
(A) CH;CH1CH1CHiCHJ. (B) (CHchﬂ:CHul (C) CH:CH?CHJ + CH,CH, (D] NO
Q8. Which carl.on atoms are sp hybndlzed ir t.h=- compound helow? : [Q ]
CH, CH—CHC=CH e .
5 47 &2 T 12 .ca}. 2and3 (C).3'and 4 (D). 1 and 5.
Counsider the v Em:lluu sr:quence and answey questions {3-10)
CH,C=CH - (D) - SO :
| (F}_ | _ Lt .
L ! Ci;IHC‘-OCHa : ; o .
Q9. Choose frym the opll.i'uﬁa, the product D e o x VAN
- 4+ L
(A) CH,C=CNa  (B) CH,C=C-NH, (C) CH,CH=CH-NH, (D) NOTA
Q10. ; Provice the reagent IF . s o igl

(11, One of 11e options below represents the product E]
(A) Pent-1-ynz (B) Pent-2-ene (C) But-2-yne (D) Pent-2-yne

_~~" Q12. Consider the two compounds below; ?
CH,CH;OCHy, CH;CH(QH)CH, What ure they , LA
(A) Functional group isomers (B). Tautories (C) Stercoisomer (D). Constitutional 1somers

(A) 1% KMn D, (B) Hg*/dilH;80. (C) NeOH/MH:0:. (D) NaNHiligNH;,
" @ ,

= ——r e

A
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lion in alkenes? . ]j\
QLI Which of the fo]]nwmg lSIL.h])OIIFIh]L ﬁ}r mlrhllull reac )
(#) preelections (B) sipma cleetrons (C) bj} Ilybml l:n bJF.JI (D) ones .u].d uncp mhn.m .

Q14. How many sigma bonds are there in lhc compound bﬂlﬂW? ' | IC I i
Cl‘lu{(__'l 1}CH CH CHCH ' o '

(A).6 (B) 2 (C)l';f (DL}A

cd

W,

Q1S. Whi-h of the following cumpnunds cu..tdms tngona] hybridized c“b‘:‘“ i {A It
(A). Hepline . (B). Bulane (C) Pentyne ‘(D). Ethane - }quﬂ
iy avord WH-" [rea ﬁlﬁ'ﬂnh—{- T,
Q16. In lh~halobcnaimnsma:lmn of alcohols, the different halides rcquirs the following '-"‘-" i,

L Lr
4 reagenls
(|

*(A).Cl-Zn: -]1, IH;SD.;, Br-H PO, (B) \J].‘IH"ID],I II;PO.;, Br-H;SOq 2 ' e "
(C) Cl .’Zn 2ly, I-H;3 0y, Br- -H,804 (D) Nonc of the above ; gl B

\ Q17. One of the comments stated below is hol cwra.cl abuut thc tcsls foralcohols [ J&
(A) A tertiary-aleohol d-:hydmgenatc-l L3 give an n]kf.nc when passed over lieated copper :
(B)A secondary alcohol reacts with-Lucus. reqgent fo give! a]kyI chloride within:5-10.mins, ] %
(C)A primr ary alcohol does not react unprr..cmhly will' Lucas rcagcnt at'room tcmperamre Cilia
(D) A secondary alcohol dchydrog,cmlul lo givea kL.lnnsrwhcn pnsscd over CDppE:r

f ;
. 4’ . ' -
Q18. Ethers undergo, the l'o]lcwmp u‘:"u..huus :.xczplw&l e IC ] :
(A) Aclds (}3) Oxygan (C] Amall (DJ \Touuonﬁ;"ﬁ’w R SEI
Lt L S ,,
“}"{ Q13. lhr. dnﬂ‘t::cncc b:.lwm:nall:ohola 'nUJ;hcnol Jreauiffbr;'- : ['DI

(A) The irfluence of Uje’ OH group on lhe aromali Ting {B] The influence of thé subsnnucn'._; cn
 the aromaie.ring .(C): The mﬂucncc of the substitiérts ohit
(D) The ir: f‘ucm., oflhe. OH rlelp ar 1h°su suuue

.'.- 1 '

220, One of the ummods of IJ.LE preparation ofp[‘n:no]s mc]udc . ' [ 5]
() Fissio 1 of sulphonic acids with alcohols (B) Fusion of aromatic sulphonic acids wuh alkahs
(C) Fusion of aromatic zcids with alicalis (D) None ufih‘., above '
_~" Q21.The sxceptional slahllaty of benzene ring is cnus.-,d by the; - ... ,. [C] :
(A) Presence ufa]lematmg single and L.oublr: bonds i1 1J1c nnr; (B}Plan:lr mtu.re of lh:: br.'nzcnc
molecule b ;
(C) Deloc ilization of'Lhe pi- clr.,cL.rons ghove md IJLIO\\ fhe'plune oftln: moleculc Cl e

(D) sp? _hylmdlzahon oflhe:c::.rl:-on ..[amsu'ﬂ.u ben"enemulecu]c SRR L :

Ql" IomtmLp ben‘.m:_ UlCl’B:t[;,E:J]IS rcquucd cunce :
nitric acid. Themiral;ng agentls called; . : T W : S :[':D}'H'? i
(A) Mixed ion (B nitrite ion {C} mL[ Tiunifion (D) Bllmhmmmn '-. RO Wi e

Q"S Forthe reac[mnbclow e v ""5_ -:- 3 . s e
he: Gt LA e g TR e
3 Molecucles of but-2- ym. - prciduct- (X)'.-‘:-,' AL S . "
The prodict (X) of the reaction is; S ' ) '["p] E
(A) 1,3,5trimethylbenzens (B) 1,2,3- l-un-:.Lhylbenzr:na - '

(C) 1,2,%,6- Lt:rﬂmu.lh}lbu.n?cnc D) 1,2,3,4,5,6- hu4:11ncl]1y]bcnacnc

Q24 Whicli thhn[b]lowlngcompnunda1unutoip]z‘mc? e W [gI
(A) CH, CH}CH CH 2CH, (B) L}la{CH)CH:jCHS' o

(C) CH,3(CHy),CH, ", (D) CH,CH,CH,CH,CH, .-
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niversity of Nigeria, Nsukla . ' = Names:
oepartment of Pure and Industrial Chemistry - Dept: g
2009/2010 Second Mid-semester Test, L Regnoi_____ _ il .
CHM122: Basic Principles of Organic Chemlstry Slgn: } ¢ \
Time Allowed; 20 minutes, - i 4
Q1 The reaction of propyne with 2HI/H, O, produces one of the following options as the product 1 ?;
. . "J‘ + 1 ’ .'
(A) CH; Cly CH, ‘() CHsCH,CHL
(B) CHyCHICH,1 . - . PR (D)  CH;CH--CHI 8
) \
Q2 In papef chromatographic experiment for'a mixture mntamtng two compo nents only, the distance |
muued__y solvet front is 17.0cm while tge distance A and B aré 7.0cm and 15.0cm Tespectively What is \
the Rf value for component A, (D] 'll
(A) 0.B8 (8) 0.80 (c) 0.71 (D) 0.41
\
M3 On each Sp* hybridized narbon, there are; e

(A) Three hybrid atomic orbitals and unhybridized 2p atomic orbital

(8) Three unbybridized atomic orbitals and one hybridized 2p atomic orbital
{C) Twao hybridized and two unhybridized orbitals

(D) No unhybridized orbital.

(34 The compound below can be concerted into a saturated compound by; ID]

TH y —CH—C=C CH,CH;
|

CH,
) (&) Substitution reaction ._'l.c:l heterolytic cleavage
{B) Hybridization (D) - addition reaction
N5 Consider the reaction below; .
CH; CH; Br + CH; CH, COOAg—> organic product 1~F‘:}
{A) CH; CH,; COOCH; TH3 n - 1) CHy CH, Ag
(8] CH; CH,; COOBr (D) CH; CH, COOBr + CH3 CH; Ag
06 Which of the foflowing determines Lhe structure of a rompound?
(A) The forces holding the atoms in the molecules At

(B) The number of atoms in the molecule
(C) The type of atoms in the molecule
(D) all of the abave.
07 Consider the reaction; . _
CHy—CH CH; CL + CHyCH,GNa = Organic product

|
CHy» -
Which of the following is the arganic product? . - . [N
() ether (B) alcohal (C) ‘ester (D) ketone
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niversity of Nigeria, Nsulla ' Name
pepartment of Pure and Industrial Chemistry _ Dept:
2003/2010 Second Mid-semester Test; . Reg no:
CHM122: Basic Principles of Organic Chemlstr}' Slgn:

Time Allowed: 20 minutes, ‘--‘ .-
Q) The reaclion of propyne with ZHI/H, O, prnduces une of the fnlrc:wung optlons as the prnrluct

(A) CHy 1y CH, Tf,[.:}i CHy GH, CHI; -
(B) CHyCHICH,I, - . - " . (D). CH;CH--CHI TR
Q2. In papey chromatographic experiment for'a mixture containing two components only, the distance F
”"U”Ed,_‘.' solvet front is 17.0cm while tge distance A and B are 7.0cm and 15 Ocm tespectively What is
the Rf valle for cnmpnnenl A, (D] E
(A) 088 (8) 080 (C) 071 o] . 0.41
22 On each Sp® hybridized =arbon, there are: ' A

{A) Three hybrid atomic orbitals and unhybridized 2p atomic orbital

- (B) Three unbybridized atomic orbitals and one hybridized 2p atomic orbital
(C) Two hybridized and two unhybridized Drblitals
(D) No unhybridized orbital.

: Q4 The compound below can be concerted into a saturated compound by; (D]
| CH 3 —CH—C=C CH,CH;
| - L
. CH, s _‘
1 - (A) Slubstltmion reaction 1) Ineierolytiq cleavage
{B) Hybridization {D) . addition reactiop
05 Consider the reaction below;
CH;CH,Br  + CH, CH, CO0AG> organic product i
(A) CH3 CH; COOCH, CH; = 1C)  CH3CH,Ag -
(B) CH; CH; COOBr (D) CH; CH, COOBr + CH, CH, Ag

Q6. Which of the folowing determines Lhe structure of 3 compound?
(A) Thle forces holding the atoms in the molecules [l
(B) The numher of atoms in the molecule
(C) The type of aloms in the molecule
(D) Allgf Lhe above.
07 Cone.der the reaction; .
CHy—CH CH, CL. + . CHyCH,GNa = Organic product

|
CHy: T
Which of the following is the arganic product ? . . u A
{a) ether (B) alcohol (C) ester (D) ketone
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(A 00TE g () 0011 @ (€) 0022 g, (100022
A QL A arganie sample of weight 3.6 my pave G030 iy ul silver chlorirle un gravimelie
analysis, Whal is the Ve coinent ol chloring jiv hesanple? (A= 108, C1=35.5) (=

FEv ALLOWISD, 3 O an MINEILS Sfi memmeeime

wic conipoud capabile

P

Q1 Which physical method would you for the puu%ﬁu:nkiun.u[ i iuidd o
al its boiling poinl wider nimagpheric Preasul .
(13): Slemn distilarinn .

ol douompusing
(Y Banple distillabion

(0 teastionnl distitition (). Laistilltion wder redugd pressne o
0L, boopaper clivernatographic L'..t|+~'.ti|\\b|1k foru pixtire containing three & 'I"D“I'iHlls }-'"IZE’I""_L" 2
diatancetraveliod by cuImpuneits iy Il Cwie y.0'cm nud 10.0 cm and 13.0 cm |:I:5|n=;.lw .
o e distance tavelled by solvenl frontis 14.0 am, Wik i the 1L vnlue o[ component } AP
(A) 10442 (1) 1A (C) 051N (1) None of the'above '
. I i
sinple yiclded 0.248 nf COg and 0100 g

3. Vhe comushion ol 0124 g alpate urpanis
o 1170y, Whiat is the weight of hydiogen in the sample?

lBI

(A) 1601 % () 46.00 % () A6.01 % )} '_ﬂﬂ1'"ful

Dunan methad, 4,44 cm? of niliopen gas was
(2o A3 g, Wil is the weight of

lg'.l

ane of the allowing gplions o8 e ! s

1}\!

(5 In Tl awlysia ul L'.'-Uﬂc mamijile by thé
’ n
weuts pimed al 21

cunlved when 432 mp ol the gl
wihopen i thc swmpled . ?
LA 5.00RD vy (L) SulLe iy (L5000 iy {129 nune ul the abve

126 The icachiun ul propync willy 20 Ula’! 1.1(.')1 |.n£||r.lt'|cu_;
paduel: . ! 2

(A} CILCKRCH (1) CULCHLCHT [f,')‘.’(.".1_._l_.f2ll.'l['.'lIzl () CILCLU=CIL
1)7. Uydroxylalion ol L:llr].-?llii;:;i:-l'bujil l|ipi'r.':, hoids
following! | -

(A) relimol (1) Diol (€) Fetid” (D). Dione

awith 2].1]d#i(M 104 produces ons of |I|§

. 11;.*:'1-, 

Cunsidor the peaslion sepuciee nptd nigier quu.xliun.'i {Ll'—lm'1
: - CLICG Lo KoM W .
CH,CH,CH=CH, YOOy eV~ CH,5H,COCH,
2 6

[ lic [ollowing: | . ip I
CCLCIH, _(C)Cll,.Cl-ll_Cl-I;[','lnllfjl (123011, CHLCHC Cli2)
from the fullowing aplions:

]
e (Ll'r) Tulane {D] [Wl-2-vne ’ {[\‘
QI Which of e ieagent 1u|:1t5=£1p13 Wi, a ).
LAY At () punsag. KMnOy *(C) ]

pe produet B fswhicli v

00 Lhe vagin
I (1) CILCH

(A) CILCILCHLEHE

QY. ldentifly the product ¥
(A) Dut-l-ype (13) Bul-2-y

Lo 1,804 (1) Bia/CCla

.-fJ:‘I//«' QL Conglder the conppound,
“fe ol I”'HGH:_:: cl ‘J‘
N I L

[T L+

Which ul the carbons niv i Dl staled I ]'“'_:. |
(A and 4 (1) VRIS U"I)Q“\"“"! A () Tl 2 ¥
()12, Which ol the {ulluwing, n;ulu_l-nln-'l_t.lz: will not exhibit geonetiial isurnisu (C

3,*!-!)i|nr'.i1|vl|nc.u-fl-cnr_

JLAY Dul-2-ene (1) Hex-2-cle (* 4 Pruponc (1

WL Which al the follnwing wonpuosids i oul ol placed lI'.E'J |
(A) CHCHICHLEILEH, () GHGHICH,CH, =
(C) CH,GIEH,),CHy () CH,CH,CH,CH,CI,
. e iini bomds wre leio in 2-Mactliylprapmnod L[]
' . iz
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B L BerJa0 (D) )

gl R A .
Hl"l Cunsider lhu. reactinn helow: ! : ' e T N
oo diyether oo L LT R g, T
CH C] I.CI‘I C{ - M) |Y — (’r\) g TR | I. I, ..l. DRARTR TR
The U|un|||4-..p|n._l;|-..l[A) s, . ' 3 , il o e f(i, )
(A) An clhier (B) An nlkene ' (CYAN [.lu;u.ml n.uypul {ﬂ] A mIH'h -
‘} L ] v I '" j‘i"
_/OIG mmmblh:, u.uuu.m: nlm]mh ng th !n.i.m..lum_, 1Iu.1(.||- u(litﬂllllll)" lll‘v-lILI -ll"u tlnr_:: ey, -
v IUHDWUIL ) ' . AR TR . ' T
o A) Increases (1) DLuL-'-'.-.u ({}m.m.un st.;[u., UJ) Num.uf ilic- uluqu.- i '
i R . : . RN
Qi1 Comrullul oxidulion of mcilmnc ymld-' mt:.lh:uLu[.'||'1-nni,-.w‘l'-lf'n&m-. rnges of lemperaluic a2
pressune " b LS BT
: | . P T I SR o |-
(M) "u(] Crand 150 Tas (1) 400"C sunl 150 s (C) aI.’iIJ"’muI A50%new (1) A50"C anid 300 bues ____
QL. The veaclion hetween benzens and ¢ hilorine lo Iurm L{llut‘nxlié;il?.ullu-;u':.‘utcmlx in H:u'presur\uc '
ol [ IR '
#
' - ID i
) FeCly and sles (T ci._.h .mi.l ice. (C) ik LCh {DJ 1'[-[.’_] .uul iu..Ll ) e
Q1Y. Sund Mayer reaction can result o lIu..Jmm.|I|m1 of - e U7 e Tt fj:)f }
(A) llmmullcnamu U!J Cllimuhulu.cln, (Cy ’luduhcun.mJ (D} Al ol |Iu nlu:vt.
! . l i -! ,- - L a* . . ’ S| I‘I
QIU Jdentily the produet of veaetlon huluw oo BT E ]1,'"
R-CHyCH==ciy, “HBIwesv o0 L e B S
e R e
{A] 1-CHBr- ('.11_1l (l]) lL—(‘Il]]l C'J.h o JI;;{(") Jl-C ﬁ;[.l[, 1 l, ,{D) l( LHUJ LII. I II;
t i i
. v -.".': et ,
(."‘.) 3 Molceules of elhiane ()3 Mt:lu..uln.. nl’r..llmn (CJ! Mg e l|L5 al propenc -
(D)3 Maleeules of cthyne = -
: : | 5
Q1. I'In. cibon aloms | in benzene ol bengenies k;,g b;,trc BTN T e
(A) S Hyhllduul (1) 5% ﬂyluulwr_tl (Cy8 'Il)fh[‘lthf“ll fﬂJ} ,I” Ilylrclrtluul :
CZ3. Lt reaction helow ' . ! _ N
Tie organic p:uducl r:nflhc renction below is e, : jC |,
. b A b fapy i : ' - i O
CHyl L’*LHEU”U m—r oumnlu |1|0t.lm.l T ey
(A) l-JtlnhuuLm. (1 I‘Hlyllmmcnu () Nib”lyHJLlh‘CIlc ([)j I-ludubenzene . - i
Qltl Which of the fullowing stalement i iy m:u true o the LrLJI.’LJJL molecule? 0 It ' .1
(A) Al (L cilrbgn 1o l,.ulmn boid distances nre equal s ] - S
(B) . The ring is planir wilh lha shape of i ropulur hux IL,un ’ SO '
(C) The moleeule is highly Unsaturate , . e |
(D) The molecule is complefely symmetiieal . ) .
4 )
o i
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Jauueaswe) Ag pauueds

"n! | Seonnd Mid-Semester Test, Tlei;, RV, ke
At e Proneiples of Organic Chemistry, Sig --beeceomemaenseees
Al \HUW'I*D 20 MINUTES I
. Tl
) |

'1 | i*';uu sample of an arganic compound on con1buslmn1jnnl'.c|s gave 361 mg of €O
i L
ant mye ol H;O0 1f the weight of the ..ﬁmplc is 2 l" . calculate” the weight vl
hvdiogen in the sample? I#]

PR 0TRS¢ (B) 0.0173 2 (C) 0.0183 (D) none-of the cihu\'c ,

(2. Which of the methods would you use-to- qbtam -nmwe ingredients (drugs) from
natural medicinal plamts® [ : ”‘H
(A} Chromatography (B) Simple dlsullauun
— () Solvent extraction (D) Distllkatmn under re licedipres

O3 The repctionsberween an alkene and halugen 31 ‘pmcr.E‘d by |
{A) Addibon ma:uon (B) Nuclcophﬂm su'ushfqnpmnﬁtuun -
(C) Atam dssp“lat:tmem reaction (D] Eliminatioirreaetion

Ll T

()4 Give the name of the structure below
HO}/ OH d

(A} 3-Methvlcyclohexane- 1. | -diol (B) !-Methylc:
(Cy \-Merl-.ylcych.mhaxanedml (D) 3- Methylbenzene

e e

(33, The IWPAC name of the “orpanic productii)” l.mh:: fis* I |

cL/CCl, 2 KOH:.
CH,CH,CH=CH, e CH
‘ . - fel

{A). 1. 1-dichlorobuire i3 l-l?-i-hch‘nnro i tanes
(U} 1 3-dichlorohutane. - CD}'-";’. o)

06 1dentify jhe produck V. fmm lhc’fmﬂﬁwlng.ﬁpﬂ; ;

A

(A1 Bul-1-yne (B) But-2<yne (C) Bulanc (DY

()7. The isoni2rism exhibited by CH«.,CHwC‘HG;H" G Wl

(A} Pasition samerism  (B) Nuclear 15011:&;1_.5;51‘%:5&; o

(Cy Constiturional lsmncnsm (C‘; l-uncumwai%r_
1€

(On Which ulgheses mhiamed in Eehmt.lru:

(AjStaggered and ¢ llpqed {BJ Lau*ﬂmﬂl‘ljl"[
1 Cis=Trans mny Cnnsmuumﬂ. s

Qv Consider (he renction below hTE
H ' s
|
H,O =
CHchE.CMgBr 2

l
CH,CH,
I { X is the nrpanic product

tA) Pentane (R} Pentanol
Wy Pentanune — (D) 1- Ethylpropane*

in the’ abnve reacnn#' whﬁﬁs'}é? : ;Hvr

'/j/wfl I A




M0/ 2011 Second Mid-Semester Test, S o
\ (' 1IM 122; Busic Principles of Organic ChemistTy :

¥ - I''ME ALLOWED; 20 MINUTES - i

Q1. Consider this equation;

J r F Department of Pure and Industrinlummlllu: X |:1 0, "__m“_'_,_...-.m-—

----.--a--.m. -

; 2CHCHBr + aNa  SST L Akane + 2 NaBr
. IR s L i | €l
| . The alkune Tormed in the above reacucm is; Vel r, : .

| {A) Propane (B) Pentane (C) Butaie’ {U} Ethene _,:, oy
N 1enls is '

02. To name an alkane which the struf:lure is gwen oﬁe of: thc f'c-llowmg sraien |

nol acceptable;, ¥ I . :
| (A) Firsi identify the longest carbon chain oo
l i U The posinon and name of the substitiuents musl be |nd1cat=d

| : [€) Number the chain from the end whichi'will-give the |'||Ighm35t numbeﬂs} o the.
position(s) of the substitiuents

(D) A hyphen is placed belween the position number and the name of the substitiuents.

Q3. In the analysis of an organic ssmple by the Durn G methud 4.44 cm Jof nitrogen gas -
evolved when 4.32 mp of sample was uséd Bl 2170 d 743 mmHg. What is the weight
ol nitrogen in the sample? ' |Q|

|
|
; E (A)G.0368 mp (B) 4.0388 mg[C)SGO&E mg (D) 5.03 ﬁmg :

_. ' © Q4. The two mein natural sources of aromatic'compg nds are: 1131
! | ) (A) Crude oil and petroleum (B) Coal and crude oil ; : -
(C) Coal and lime stone (D) Coal tar and petrul?um' I

(5. All the entities in each lisl are suitabile eleclruphllqs forammatlc subst:lulmn hﬂ—]-

(A1 7805 CH-C=0", CI", -™NO: (B). SOy Cly, CHzCDCI

i (C130+. CI' CHy Br (D)'NuneonnEabdﬁ'_T"
Q6. When coal is carbonized, the main pm’ducp% are; ) |1 \
(A} Coke. silt, crude benzole and petrol | row DO ’ v

(1) Coke. town was. crude benzole and coal tar_ .
() Coke. :ual tar. petrol and crude benzole © - [+ . -
(D) Coke. crude benzole, town gas and naphlhalene ¥

“£707. For the rgaction below . U 3 ; s | .
| CH,CH=CH, o - ) :7 3
' ' - oguct,
H,PO, major pr duet, . i
The'major product is; I v o e - i -

H,CH,CH, H,CH,CH, - CH:'..‘.*!CH:»“-_-.Q
ST

Qs, The carbon-carbon bond in clhanc is shorter t. a.n the carbori-carbon bond in ethane
because of} ' | p\l

(A) Incomplete hybridization (1) T"rc"cm:c of’ pl,-bond

(') Luck ol sigma bond-in cthane (D} Restnctcd crotation in-ethane

_‘.:II-Ji v

Q9. Consider the reaction below; .
CH,CH,CH, Br + NaOH —reflux - o, m*anlo producl

The organic product of.the is; .
{A}an esier (B) an aleohol (Clan elher (D') on udeh:,dc
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L] I "||' ) g LI v L ‘.’ /'j/
4 (63 okp Y M

\_.'f-l‘ bo il SV

Ih“ v Al !
‘ . T Lpwynen It
UNINGSITY ©F NIGERIA. Gy e o Lmt" !
' NSUKKA, Dopt. of Pure & Ind, Chem, O NAMIEL S “IQHWM-E-‘W-J UL,
AULH2012 THM 322 Second Semaester Exa minatlon + Pug Nowdtad n?uu . e
Answer All Questions, Time: 1 hr SN Lupti N LAy,
y Instrisction: Tiek vV pgainst the letter bearing the correct answer; No cancellation or use of Pencll.
L : {
L A,f] - - b{
PR \/1 Which compound exhibits both cis-trans and opgical isomerism?_, [ ‘ b
L [AICHsCH=CHCH,CH; [8] CH;CHBrCrtnCH;{B%J HCBr=CBrCH; ..[Dl o e L ¢
CH3CH,CHBrCH=CHBr - D -
, ) Q-
;ﬁ' Z. The specific rotatlonof an optically active compnund at 20°C” atd i
< Wavelength of SEEHA [Q__hné”c‘f sodlum) is 5.756". What'is: v the 4 angle of K - 7z . '
rotation if @ 10cm polarlrneter tube Is used at a concentratlon of -
0.05moldm™ - Molar mass of the compound Is given as 84. [A] -0.0484 IB] - O = V05
0.0242 [C] 23:352 [D] 0.0242. = [0c = 1de,
Which of the fmllcwing istnot d'chardcteristic of a Pl bond [ﬁd’farmed by .'L*,r‘ - ! - -'
lateral uuerlapn:fpz.ﬁ;bitals@’_ does not have free rotation [CYéne or two [3 b - G-36£
bonds can exist-bétiWeenitwo’atom [D], less stable than sigma bond. H C, (ag bEJN‘ o
i 4. The hybridization: smte geometry and bond angle for carbon and oxygen J= A

L "
. - @,—’ L PPBTME St

& 1257 B <p Iinear & JBG-"[L‘.] sp,tetrahedral & 109, 5)}5‘] sp’, trigonal &

120°, -

atoms in methana] sHIE0 are -, o— & - respectively [A] sp trigonal [ !
5. What type nflsomerls"' e

Lby tne following hcmpounds '; el - &

2 ln;rhlﬁd“n; s TR P Y !f J‘F—-é 7 PU o w =i

—_—

.J'Ietmcal {C] cha]n ﬁpnsnmn ""':'\r Gk :”\
| - \ }mu sa_s_&here in thie following molecule o ]
v' ) 'k/; ' B L -CC' _ ()2\
v/ CH S e T =
vy : -e of L & T
' r (S 7. Isnomers that have the same physical propertles except for the direction of
| E =~
|‘f~ LA, rotation of plane of polarized thtare called [A] enantiomers [Qj"‘ o< bt‘. \M&l '(I}\t\\.
@ LG@ /.\ dlastermmers@'?:is tran isomers [D] configurational isomers

.\ Which oftwowiweagent[s]/condltlouug:; c{z‘n;_ntjcu:‘,ertl |:[-;]oparlmne __|! u M CI\W\
; \_//‘ to propano CH3;MgBr/H30" [B] Ha/Ni/200°C :NE Ethanol[

- 2

i &‘f‘ Lial./diethyl ether (opiren B, "b“‘b**‘“f E]" ("r{.fhaetl M C_CMLW I(m
~ 3. Whlj:h of the following is the commonest type of bonding in organic

~OH chemistry? @Fovalent (8] ionic [C] metallic {D].co-ordinate covalent mﬂ('_ml_ ,_“Dm{!,n\1$‘““q

i 10. The IUPAC name of the compound having the following structure 'a
= \‘C {:\. = I [ ‘
i . @ 2-methyl-3-bromopentane [B] 4,4-dimethyl-3-bromopentane _l—‘clma ﬁ;‘:[,‘_:ﬁ Ifl‘.

[IQT"lil-dlmeth\:rl-z-brumcbutane [D] 4-methyl-3-bromopentane 3 3
| \dw’= |Gy
'1se the following isomers of butanol to ancwer guestion 11 to 14,

,./ 2, Bromo Snabyladenst @) 2" Gy mﬁl%

. ) Lt <2 )lMAan,\(
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I '
"R " 1

R, (o -Mathylpropan-1-ol
2 fono Butan- 1| Luan-2-ol i-MathyIpropan-z-ol 2 Mﬂ.l 5':; p
\ - , a1l
( . | - I
{ 18IV
N h b 11. Which of the alcohols is/are prlmﬂl?'l’@‘&" (] '&"'%VID“
n 't

«~12.Which ah:ohol(s) contaln(s) a chiral center ? (A] Wﬁ"ﬂ [C] I [D] &I

L

i .[ 3. Which of the alcohol(s) may be dehydrated to form 2- m.c'.thV"F""f-"Pe""3 [A]
o\ u (8] 1 ¥V (0] | é
\ I

L + 14. Which alcohol(s) react(s) with acidified sodium dichromate (Vi) to form a
Mo CHg

ketone containing the same number of carbon atom as the alcohol(s)? [a] 1&I
H @;? #o bl m T d) v &,
p-C~ G-t - ; 4 - SR 3 -
i1 1 15. Which term describes the action of NaOH(aq) on bromoalkane? [A] acid- ___Ct ~d L
4 r"‘% base reaction [B] elimination of HBr [C] nucleophilic substitution (@] ‘
electrophilic substitution.

r"

| 16. Which formula re i ¢ %“‘3"“
: . epresents the organic compound formed by reaction of J :
' propanoic acid with methanol In the presence of concentrated sulphuric acid Copy —
a5 catalyst? [A] CHCH,COCH, B CHiCHyCOCH, [C] CHCO:CH;CHs D] T oh
CHyCHRCH,CO,CHs..

?fru.mﬁ’\/ 17.The product(s:l of the-feattion of' phénol with excess aqueous bromine
— is/are R

18. What is the correct order of reactivity of the akyl hahdes towards SN2 reaction’

, mechanism. [A] 3ry>2ry>1ry>CHsX- [B] CH3X>1ry>2ry >3|'Y{C] Ty s >3ry>1ry> CH;X
¥ (D] NOTA 7
PR 19 Which equation represents a valid propagation step In the free radical
: reaction between ethane and chlorine? [A] C,Hg+ Cle = CiHsCl+ He
@ CyHsCl + Cl» = C3H4Cle + HCI [C) CoHg + He = C;Hse + HCI
l-Df C3Hse + Cl» = CHsCl

20. Phenol may be synthesized In the laboratory by the following reaction
P"\M’L sequence.

| N, a0, i NSNS " OH
) @ _ﬁ.’l:_'g_-' g BT
g RT.US

Reagents Aand B. and theif: rgspecti\re appr temperatures are as follows ;
[A] NaCl+H;0/>5 and NaOH/boil [ NaNOy+ HCI/<5 and H;07> 10 [C]
| NaOH-+H;0/boil and HCI/25 D) NH3+H;0j«<10 and stu.fz

- —

& lece

"l e
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‘ ('(&I{';_;'-:H- (H et cu

=<, ¢

Y e
21.The mgjor Product of ﬁ?a"r_o%z?'? oL Uz by

2-bromobuytane (E)z-brnmoh e | (
ut-1- 1+ merene. (D) 1-
hrornot;utdne S gnﬁ,[;]‘:_l{,@,lgqm.'?f’l{t 2:e0e “.:l} : ~
f_l:_2_9.~105'mg of an organic co
" Kieldah's Method prodyce

mpound-on determinatiorisfor
£f 0.05M Hcy, What

_ nitrogen by the . A
d ammonia -gaswh{gh neutralized completely 23.5 c3 L

. is.t;t;e;;pe_gcejj?;a“a'.e;hﬁﬁ i@géﬁém,tﬁ-'e:a;«.s}%npe‘ﬁﬁa?ﬁaé}'1 6.71%
i (8]15.00% (] 17,775, I FER O s, '
f j ) 3 e & d
1 ¢ - . s
S 23.3.665 x10 g1of an Organic sample gave:giso x10

Bof silVeichloride. What

-3
s the percenta e'-'Ebmpmuﬁui:li!g{"gl,:SEJ':S;P&g:lﬁ&} .

ge.of chlorine In-th
(B] 15.00% [C)

[A}46.03% o =
46.13% [D] 46.23% n’d’%ﬁ,}
) ~~ . . Yy rvy -
{; k",_Z'fl. _H!::w Mmany orgatic prod hct‘[-i').'ab;{ron;akp'ect from the reaction below? —_ * :
f o (e R n g
/ [A) One [B)' NONE (] Three (B Two | Vag= g
i ,3‘5 _ 25. 0155g of Organicisample treated 5_!:‘?5_'{]??.* Carius method gave 0.2369g of silver  * =w
/ bromide, Fing the m;e_igl_a’-.t;q,fqbr;c:-‘nﬁ.an.,I,ﬁlﬁﬁe-sa mple. [A)0.0107 [B] 0.0546¢ [C]
Fi tem 0.01008g [D) n.mb'ag_ ) S i X D}i"j&e_
,L/ Censider the fclnlllqwing' reactions and answer questions 26 &27. Eagp’dﬁ';;.u ‘
. (CH CH, » m,—ﬁlz‘g—-— CHiCHiBr shgr ~
&/ th ST Moy e e o o
I 28. Which of the reactions represents nucleophllic sy bstitution reaction? . L':"“W
<.[A§1 (i) 1877i) [c ()OI NQTA o .
m ' B 27. Which of the reactions is a su bstitution by free radical mecnanism? —
L [BJ{H-[€] (iii) [D] NoTA === 3 .

-

Consider the following reaction scheme and answer questions 28-30. i
Ly '
119 B CrCes s actd funds ¢ At K~
ridien 0f Price b rxs cone.H; 80,/ 170°¢
"'-UP Prap- Dt

' . .
A CHiCO,H
i HaC=—=CH-—CH, —U__., |-13::—'£|-t~-1\t:}ié —‘*—-—M‘ = D) Es't;_,f -
| i ;
|

e

Rul— ‘..

- Lh-:g:f_’.:;f tl‘{ﬁﬁ.’f (B) C!-ac_ I._{‘i.“? Y <tuAd Y ) .g-n,-u-f
M&n{w" h /3y~ CHy.co. ;_-.53 ;:Twﬁ—taﬁﬂﬁﬁf

28, Reagent (A) Is [ﬁHg{m.c;,jTHF-Hzoméﬁ‘[Elﬁf’:o,faH, (c] ' : ' ]
f © ' BHy/THF/H,0,, OH" [D] NOTA H:gu*fﬂlq, | ; } I\

| o 2’9."Fie3égent{|3) is:53) H'/K:Cr 07 [BYAY/ H,0 [C) BizpﬁalorA W8

,' . 30, Prgdulct (c) js%lkeﬁe 1:[51'-;;._{1 alcohol ek atdenyde (D) NOTA ”

! « 31.Product (D) Is: [A] an acid chlorige [B] an amide [gie

4.
Aoty T 4 cen Ot Gone HaSep o Aleotal (s 6 s ol
# Undes evdi v Conelitrron &CD-J'WJ:EM e n % i ST N TRTY S VYT (B
G tdg 14 t 55, : H i °
_ AY clest >5 f —v Ce Hs 115'-"4;- f'Lst', Uﬁl&lﬂt gaibud 1S _.ﬁ”rrua.r g
- _b‘--lﬁ.(’ ([30—!*32 24 C / g/‘ \EL
=p )

ester [D] NOTA o
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() BH,, THF
CHyCH = CHy ————— =

(ii) H,0/CY"

- tirecondary alcohol [B] aldehyde [C] <
32. The product of the above reaction is; [4fsecondary alcohol [ ]

primary alcohol [D] NOTA

i

CHy.CH = CH Hi/peroxlde %)
- action
33. (X) in the above equation is : [AYCH3CHICH3 Wé&aCHZFHzi [C] norea
[D] NOTA '

i c ‘ T

\"h .
34. The product of the above reaction is:
[A%‘I—I;CH;C{DH};C{CI)ZH (B] CH3CH,C(Cl),C(OH);H [E(EH3CH COCHCla [D] NOTA "

35. CHaCHECHzi + CH3CH2
- Tha

“" Which of the foliowmg products is.not i::{;}l?ﬂam the above reaction? [A] A-ga é

CHACHaCH;CH,CH,CH3 [B]; CH3€H1CH:CH HaCH2CH3CH,CH;CHaCHa [DIve

I +2MNa —_— 7

]

CHiCHiCHGHyCHy e S% R : Mty 5 A £ )i

e ——

T F
: f e madhs -
CHaCH?CHzcuzMgar H,0 } ”\Jb\

: _ : |
e a oy
. 36.The r::rganu: product of the a}*r J-. =actmn ISt [A] Eutan-1-ol utane {0}

Butanolc amd [DIROTA

Lt ke A 3 AL
,_._.-_:-__: T e uind by uLed'nyﬁsb?ﬁdﬁ,ﬂﬁimﬁewmﬁmmalrmgqflugfemrmm‘__ ﬁf‘ ’f:
Qdﬂogen to form the alkane: C;H;z.-,bu't does not react.u arﬁm‘? ﬁ,t_alxsﬂve‘r“' ~ ZT
R ey TRAT L LT e x
nitrate-When subjected to! Dzoncﬂ’{rs:s under th’é L‘.'Eual'lab : _5’ m‘&apradlce, one .
motacule of Y forms one molecule of 2~Q:-.opr0'panaf

-and two molecules of
methanal. The hydrocarbon Y is:-[A] an alkyne fa}{ diane [C] a triene [D] NOTA

38 The structure of Y in questmn 38is: _ ’ \“Sumdgtr "E:%L‘L’“’"
IA] HyC—CZ=C—CH,CH, [m/ff?r;:g-cH:cH, 1€l HyG-CH,CH-C==cH D] NOTA J Lesvrge
Hy . E‘b

.~ 35. Compound N in the reaction below is:

5 ;:,h__m oo 14 W é "'{SD g Ej o é

can ) 0 The structure of compuund M Jn the cea:tmn beluw Lr.J_
plitatrnn ia II'{_.. ""' Hrﬂl-— e

H,LH,CH; H,Ct!l}crto 'CUJ"' “"J
. K Cry0 0 Hy80
() ", ‘“’@
=

M.-a .‘tl‘,‘ C,‘."“:‘j'\ '
vasen ), Bl Opidqbatn A Al

a0 Pegclutt k| A caec 0 £ Eelsron of

t

& lotny e i 7

ll it :]1.&&! Uit £ eied Fﬂrmu)’ Fm

.

[ R

Scanned by CamScanner



g UNIVER SN OF NGy A NSLICI A,
. ML ORONN NI g2 \mnml'mrnu
Rgwers Al Unestinng, Timus 1 ky

IWsruction, Ty y

—

Agalnst th
¢ letter bearing the corract ancwer; No cancellation or use of Pencll,

L Duiing Iracuional distillation,
_ A The companents of the mixty
B The rompanent

the rracuonatlng column In the apparnius enables ---
e lo deuelnp into a chtomatogran
sol the mikture to distil nif

Th
If € Varlous components of the mixture-to be clearly separated D Nane of the above

_\i 2\;;2 rate of flow ar retentlun factor (RF) &F an organic compound i -—--—
Ji].: ime depe_ndenl B Time independent
Ky J
0B CUsed in the tuantilative separation of the nrganic tol'npounJ D Nene of the ;‘huve
lx‘ o (?’f 3. Which of the fallowing is not a nucleophile?
g
[ 1 AHD ‘&RNH, CHr D None of the above

'EJ' A Which ef the following is a product of heterplytlc Lleauage ol & cuvzlent bond?
n_RO BND; CR D WNoneof the above

5 0.827g of an‘orgaiic tompound when heated strongly in a stream of dry nxygen

produced D,Qdig of carbon (iv) oxide. Calculate the percentage of carbon in the

Qrganic compound
\/‘:\_:3- 93% B 3592% C44.49% D None of the above
-

E. A pyre organic compound of weight 0.0365g on analysls yielded 1.86cm’” of nitrogen 'l‘ \L

-
\ !
k { [ v
8l a temperature ol 30°C and pressure of 700mmHg. What Is the pércentage of nitrogen E . l,m_fﬂ .%I

n the compound?
ARS2% B521% C9.05% O None of the above

7

. . - B " ) s

7. Calculate the Percentage composition of carbor In the compound whosz molecular 4 ! & %0
formula is CyH,0,. [T = 12; H=1; 0=16] . \h}"l—

40% B 50% C35.5% 0 Nuneof the abova - '
; E 'l - _l - -

8. An organic campound of mulecular mzer 92g.miol” contalns tne eieme 15 ¢, H. and O . I /‘ \ j\ \" \
with percentage compositlons of 52%, 13%, and 35% respectively. Ded: _}, ) R ln”—_‘_‘_
molecular lormula of the compround . v

ABLMO B CHGO CCHIO; D None of the sbiove :

Y
8. The carbon atoms In ethyne are --fh\rhrldl?e-dl . '. @ -/ Y R
a5p' BSP! L ER-0 None af the sbove ;
‘) 10. In which of the following compounds Is rotation of carbon atoms relitive = earci r ==

—
oiher possible? '(/ \ Q . ( . E'
I E!.'mene B Ethyne Ethum‘! I)N-une ol the above Jrr - ) .

-" i

i 2 of "

@hn nitrogen alom in ACHNH Is - hybridized (’_‘

ase' Bse’ Cf‘.Pl D Nane of the'abave . < s . & N‘?{’
pl % (& 1

" 12.in which of the lollawing compound Is the contribullon oy 160 S-arbital i

Vi T« i hybridization highes ? . Aab e ) * .

_'._!_ i A Ethyne B Ethene C Cthane QNnne af the abgve ', '] . A C, —_— H_,_..- l\
: gy 8p ke B y . 1

13. An organic compound of weight 0.884g produced 1.305g of s'iver bramide on o

4 gravimetric analysls. Wlﬂn Is the per- _ntage content of bram .2 in the compound? l

2618y G (ST 57 65

e (D57 ek 3 C . r\‘ : ) _
o Tk = oue Kboo Ko\
e TR = Sray t
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i

B @ Organic compounds are Aumerous because -
A Organic compounds exhibit the phenomenan of Isomerism

VIV Y7 ?«"’/f :ﬂ,
i tﬂﬁ(a'- ‘

Ing = 108; Br = B0]

———~ ABB20% B 62 D% C.9.05% 0 None of Lhe above

= o , 0
. _ _ )
i\q 14, The tgmpound CgHCl undergoes a Lassalgne's test. The filtrate from - ! \
A Nal @ Na,5 € NaCN None of the above . o
! '

15. A sultable salvent for chromatographic.work is une with . 3
AlLow polarity 8 Ifigh polarity _C Moderate polarity D None of the above ;

16. The principle behind any :hrhmatugraphlc process is the distribution of substances '
© between the ---

Solid phase and slalionary phase 8 Solvent and mobile phases
'E}latinnar\r phase and mobile phase D None of the above

~~B Organic reactions are generally slow € or

ganlc reactions are genrally fast
+D None of the abave ' :
N

18. The ilaliﬂn?—t}i’phﬁ se in papér chrumatngraiphy [§ ~mcmmees
A m_urpina \QWawr molecules trapped In the po

res of the paper
Chilica gel D None of the above

i

: ' o : et
'} 19.The sp” hybrid orbitals of oxygen contain four equivalent orbitals where T S - )‘,

A Tu:m of the orbitals have pairs olelectrons each and the remaining twg have an’ @l Eﬂ MT .
unpaired eleciron cach. ' .
B Eachof the orbital has an unpaired electron
C Three of the orbitals each conlains an un
lone pair of electron
O Naone of the abowve

paired electron and one of the orbital has a I

70. What is the PEICEOLDER composilion of oxygeen In the compound whose molecular

formula is CiHy30,? [C=12;H=1;0 = 16)
Ad3.78% BSO.O% C67.2% &NDHE_OT H;IE dbove

Consider the following struclures and answer lhetqugsﬂons 21-23:

oH o (o}
Sl .
J \‘/) = A _———— -—
.r =
"G 1} v v
21, What s

the function of the (OH) that
AHtsupplles electrons 1o the
T Ithas no effect on the ring

is attached'lo the benzene ring in structure 17
ring Bt removes electrons from the ring
D MNone of the abpye

22. Which of the following strycures i, i,
Al B CV By

——

Vand Vs out of pars?

. 23. AL which positions does the (Qgclivatthe beniene rinr 1owards clecirophilic

A ‘
altacks? ' . ' p
a
_ ‘Q‘ ortho and para B meta ard para .t meta q:g; D None af the above :
14-28;
Examine the reactlons below and answer the questions "

®
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(e TR) A

1.\{1(! I "
o . »
| S i H,S0, :

Z HNO, ——— A&

24 The products A and B are identlfied és
A - Nnrurnelhowhumene and 2- NIlfOﬁlElhﬂK'\!bEl‘llEl’lE
8 z-Nllramethmyl:eanne and 3- NLlromerhnxybemenE
C 4-Ntromethoxybeniene and 3- Nmomelhcwbenzene D None of the above

-
25. Identify the type of reaclion thal took place;
A Addition reaction

B Nucleaphilic substitution reaction
E-'Ell:!l'_lrl:iphilil: substitutlon reaction D None of the above

26. Whai is lhe name of the reaction?

A. Sulphenation E,Nitratiun C Methylation D Nune of the above

17 The IUPALC name of the compound CH[OHJCH{OHJCH,0H Is
A Tribydrosyprapane Eﬂl"repane-],z,l-triul C Prop-1,2,3-1rinl
D Mane ol the above '
|
I | —n
) . DA Q c-: A
. r"’ Y, i

e I

Consider and Identify X and the correct u-rganic product of the reaction below; (answer 28-29)

H, O’ .
CH,CH=CH; + conc, HzSGH ____._ i Organic producl
22 which af the lallowing options represents X7 !
A, CH,CH;CH,50,H B CH,THEH, '_t'.‘:, CH,CHCH, 0 CH,CH,CH,050,H
SO H ; 0sQH

29. The nrganle, prndu;t aof the reaction above Is Identilled as;
} CH,CHCH, 2] CH,THCH, C CH,CH,Ci{,0On 0 CH,CH,CH,OH,

DH _ OH,

Examine the reaction below and provide answers lo questions 30-31;
CH,CH,CH,CHO =~ CH,CH,CH,CH,OH

1, el

30, Which of the following reagenls is out of place concernlng the reaction above? ' ,
A M/ 200G B NaGHOH  C LAH/HCI D znCijHC D
i et

31, What Is Ih;r functlon al the reagents thal can achieve the conversion reaction above?
A, They are oxldizing agents  fLThey are reducing agents
C Jhey are hydralyzing agents D None of the above

., £
H 004

Consider this reactlon and answer queslions 32-33;

) H-
: 80,H SOM
|| ‘ conc. H,50, _ N ) ™
~ mu-r. i )

50,4
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2z =0 7" ,

32. Which of the following structures Is the main product of the reaction above? : "
A (N} EJM] clo) o(p)

33, What Is the IUPAC name nfthe.pradu:l? .
A, 4-Hydroxybenzene'1-sulphonicacid ' 2-Hydroxybenzene-1-sulphonic Aeld
C 3-Hydroxybenzene-1-sulphonicacid O 4'~Hwnuyhenzene‘1,3-disulphl3ﬂ‘c acid

Complete the reaclion sequence; tanswer 34-35)
N\ 10%Na0H (C.H.),50 :
\ ’,r oH . (G) il ~ ' (H) organic producl

Y ’ 34, ldentlly (G) from the structures below .« |
A e “\ c -. D

fj 35.One of thes:: options is identified as the organic product (H);

A oo, Q_ Qcm Q_O@,H,'
. o

A (=
. s
36. Which of the following reagents will react with the three wpes of aicohnls {tertiary, jo
secondary and primary)? - -
n znchpconc HCl B 2nfcarc. HCI C Nkahne ,€r;0, D None of the. ahme )
& ek | _ .
737, Whlrl‘ of the following rPagem can nulhE used to distinguish between lermmal and H('.L /.! {:'(
’ nom-terminal alkynes? : d

A 1% ag. KMnD, B Ag(NH;);0H CCuiNH,};DH D None of the above

E + ‘ ' ) i’t(--\-‘ 7y e

Ccmsnder {he equation of reaction below and answer guestions 18 and 19
Hgas0o, rearrangement

CH]C=CCH: + H.‘, [®] ——— rﬂlETlTlldlalB . prwum v ,'
. %

H, 50,

38. The jntermediate of the feaction is one of the following options
@ CH,CH=C(OHICH, B CH,C(OH)=C(OH)CH, C CH,CH,COCH, D Nong of the above
A

(.
L2 )

EEN The product Is identifled as
»4 CH,CH,COCH, 8 CH C{OH)'CIUH}CH . C CH,CH=C(OH)CH, D I'Jonnl of tha sbove

40, Identify the IUPAC name of the compound CH;C{CH;);CHaCH(CH3)CHy
A224 -Trimethylpentane B4,4,2- Trimethylpentane
C' 2.2,4-Dimethylpentang D None of the above

r4)

ey P4

i ‘,_L' c-
- ;rE._ e ¢| :

‘:UJ t‘lrJ
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Voot NG
A CHM :j\lll*\ NSUKKA, Dept. of Puré Bnd, Chem, Namet..
44 Second Semester Euamlnatlnn +4+ o
Al Questions, Time: | hr SI'N

Reg No
D'pt"ll!tlld'l'|lillllllllllHFIllIlHIIlH

structont Tliekh ¥ g
galnst the letter bearing the ccnﬁect answer; No cancellation or u-e of Pencll
v '

1 The impon
portance of sodium fusion In thl: rJEterrnlnatlon uf nitrogen, sulphur and halogens in
organic sample is to

ARL ALY

_'J

A) remove any Inorganic substance present in the sample

B)co

} convert the elements into a form they'can be detected by Inorganic qualitative analysis /
C) remove other elements that may Interfere with the analysis

D) none of the above | e

2. Which of the following is a necessary requlrement for a mixture to be separared by
cwstalhzanm? ﬁ

A} one of the components of the rnlxture must subllme
B) the components of the mixture must’ have d‘;ffetant bolling points
C) the components of the mixture must have dlf'ferem solubllity In a given solvent +"
D) tive components of the mixture mus;a hwg,@}ﬁeren_t melting points
|b . -
3. A sodium fusion solution of an organic sample was tfeated with nitrlc acid and silver

rltrate and a yellow precipltate was furmed If the yellow prmpmate is soluble in
dilute aquends ammonia it mdlcatei‘rhat '

-‘J_uo:june is presenting the samoles;
C) chloring i1s present in ..:-r 5

'B.Lbrc-mlne is present in the sample
:male {

"4 One of the following is nrt requlredﬂn the ﬁe‘tectmn of 5uiphur in an-organic
compnound.

ap .
A) copper (ii; oxide B} sodium plumbite C) lead acetate D) none of the above

- e

5. Which of the following elements c{m be detected by zirconium alizarin’s paper?
A) thh:mrie B) phosphorus C} ﬂunr'.ne D) none of the above

6. Which of the following elements; can be determlned by Carius method?
Al supKor  B) chlorine € Iqmne **p) 3ll of the'above

7. 12.96mg of an organic sample wgsanalysetf b\,r Dumas methon at 2.°Cand
743mmHg and 6.66cm3 of mtmgen was evolved. Calculate the weight of the r tropen

inthe sarmnple. . - TR
Ay 4.39mg B)B.55Smg * yﬁﬁmg : D) none of the above * 4. T
i Vi = PV T S TSR LN
8. The angle between two Sp hvbrﬁd orhntals is’ Era PR I
Juu“,.r g) 180" C)Jo0° . D] none of the above
I . | l
g. Which of the following has the shortest carbon— :arbon bond length? o 94
A) ethene  B)ethane J-‘-’-th'ﬂ‘le*«f D) none of the above ™ r,c:-'-:
10, Propane Is able to undergo addition feaction because of . v !
\ A) covalent bond B}slgma?ﬂnd 0 |:|Ie bomj#’ D}al.lofthe above 1248 ¢ =7 1%
\ ! R
gt

11.Alkynes do not show geumetrlcaﬂ 'Isomefrlsm because they
A} do not contain pie’bondst, nl;ﬂ.'tare-iinear campoums v
8) do not contain smma‘-buni? D) none ofthe above

1Z. Consider the aquation beIi'FiW'- ’ '
P v

e il

diear A - |
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GH,CHE CH, + Cly =— CHQEH-CH?
| Cl

What type of fission occurred In the reaction?
Al heterolytic fission  B) homolytic flssion v

C) heterolytic and nemolyticfission D) none of the abaove o e,,-
+ - ek b
- A fgmometd
13 Consider the equation: X+ Y : {'"‘_ I mE \,
¢ e T

i % is 2 carbon, ¥7is known a5 a
n) carboriion  B) carponiumion, C) radical D) none of the above d-
14. The angle of rotation of plane polarized llght depends on the

A} temperature of the sample solution  B) wavelength of the light used :

C) lengthof the sample tube _Elau of the above o/

15 Which of the following reactions is not a nucleophilic substitution reaction?

KOH/EIOH , .
CHBCHzBr- _—— CH2=CH2 + HED*- KBr

TET et

1

A}V

, fl
8) CHCl + KOH ————= CH0H +KCl

C) CH,CH,CI + NaCN CH,CH,CN + NaCl

D] none of the.abpve T

16. What is the likely products of the réaction below?
. uv’ :
'uﬂ‘ + B'I.af.‘E)Cl-'-ESSJ — Pfﬂ@ds
A} CH,Br + HEI B) CH;Bry + HBr : :
Cl;,CH,Br + CHyBry+ CHBry+ CBr. + HBr ‘D} none af the above

17 The organic product of the reaction below is
CH,OH + SOCI, Products

&) zldehyde B} alkane Cether D) none of the above (" |

"

iy b SeTT T i

Gyl

18, Consider the equation below and name the organic product.

Br
|
\ .
l .y + Mg _dr_?ll'hi—-—:jrgﬂnic produc.t

A) benzene a&lﬁrlgnardreagem C) magnesium benzene D) none of the above

14, Supply the reagent(s) and/or solvent required far the following conversion

ZCHJCH?Cl —_____*-CHQCHZCH‘!CHQ + 2NaCl L::,lu.(»j 4 [oan
A)2Na/dil HCI  B) 2Na/dry emeP‘/c] 2NOH/dry ether D none of the above
20, The organic prndh:t of the reactlan hejninf is ¢
+ NH,
CHJCH,CH,CI —_—

of the above

A cyanide Blamined C) alkene "D} none

e 15 nu! B type of isomerism found in alkunes.

al isomerism  B) Chain jsomensm
nsm D) Nuclear isomensm &~

71, One of thes
A) ansurul.iun
CT} sgs'rmisornl:

far the compound below
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U GH——CH, —- CH —
\ Cﬂ—cma

l.iHh {CH (;H

A} 2.4 ,5_ - Tr.imuhyi hexene  BY?2,3,5 - Trimethyl pcnmnc..f'."
C)23.5 - Trimethyl hexane D) 2,4,5 — Trimethy heptanes

23 One of these 18 a method for the preparation of alkanes
A) Sandmeyer reaction B) Dow ﬁrucr.ss
C) Williamson synthesis D) Wurtz reactioni,”

4. 24, Supply the conditions for the reaction below- '
1) : - I
CHs ™ — G, + Wy o) M s
i e : G .
A) 120 - 300°C. Lgﬁlmiso. 8) 400 ~700°C, Al,03/Si02 > ! & fr
C) 400 — 350°C. ALOy/Si0; D) 400 ?OG“C, PdeL-w"L :;;W "Mﬂ;ﬂff “
75 The test for un-saturation in a]k_;nc.sam\.’ﬂl\"% the following EY‘M F:.ﬂz '
A) Halogenation with CCle ~ B) 'Helohydrin formation™” ot ‘g! e

96 One of these is NOT a method for the prr.parﬂtinn-ot’ alkenes

A) Halng,:nmong/ B) Hydrogenatian | of-alkynes .

f
|
|
]
l?r:_ C) Hydration ol alkenes D) All of the above
i .
D) Dshyd:au‘pn of aleohol

) Deh}rdruna]oﬂcnaunn

27 (e of these cffc;cuvcly describes an alkyne - . :
A). Allynes are 5 ? hybridized having ﬁﬁfﬁ'}iﬂﬁwiﬁi bond angle-of 120° - ' )
ByAlkynes are 5p hybridized having lg un-:i 27 honds- i
} Alkynes are §p° hybnchze;d having Io and 2 = bonds with Yond angle of 120°

D) Alkynes are §¢ hybridized having 1crand ln hnnd \vith bond angle of 1 180°

28 Ethyneis contaminated with one of these combjnations 10 give it the charactenstic

adour.
A) Poisoned catalyst
C) HaS and guinine

B) H,S and HeCh -
. D)HaS and Phosphing »”

29. S:1|.1;1L3r lhe conditions for the f:}l'luwing reactian

i) ' : .
H.C=C-H o P oos (ol oy,

i)
B) Hao/Pd. BaSQ4/quinoline

A) Ha, Ni/PL Pd
D) 'hl.-::—ne. of the ahovc

C}Hmﬂ‘d Ca(COs/quingline

AN 0.6

jve the nomenclatupe of the cozppu'und below

A1l Methvl - 3 chlorobenzene - B] 2= Chloro - 4 — methylhenzene

Cy1 - Chloro =3 mﬂlh)'lbenzenc I D)None of the above —

' lhblhf:; of benzen¢

4y Dine of these 1§ rcspoﬂS'chtfbr-_th

il
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N

YO1<4[1 % 4 )~

A0 The pussession of a o an& n- bond B) The un-sa.['l.u'ﬁliﬂl'l in the benzene molecule
L) The dynamic eguilibrium between the two struetures of benzene
1)) The delocalization of the T-clectrons in the benzeng wes”

32 Supply the conditions for the reaction stated below

L 0
)+ zhno, T —
N wr =P
A

1)
ByConc. Hy80,,50°C, H0 \°
€) Cone. B3804, 250°C, 120 D) Cone. HyS04, 200°C, 2H,0 . \u '

A) Cone.HaS04, 150°C, 2H,0

33. Benzenes undergo the following reactions excepl; Y 4
A) Alkylation B) H}rdrogenatioMQQ.Nér;ation D) Sulphonauon
34. Give the nomenclature of the compouid siated below G- el 0 \%
Cl NO i :
\!/‘-y 2 L|'.Q,‘r 9

Kf’::i G.-.:.’g-- ‘5;’(" k 0( ':/.TLEI.EI-
OH T

AJ 2 = Cnloro - 6 ~ nitrophien; -

: T ﬁi&é'é:-:ﬁ-;__?hiﬁmphennl -
C)3~Chloro-5 - nitrophenn] /’y K

‘D) None of fhie sbove
35. One of the following is a secondary aicohol
A) CHyCH(OH)CHS™ B) (CH;);COH  C) CH,CH:0H D) (CH;)2C(OH)CH,CH;

. , )
36. In the tests to distingwsh the three clagses of alcohols, one of the following is o
correct, | » Q'L
A) A primary alcoliol is dehydrated 1o give an aldehyde /C/:’
B) A primary alcohol is dehydrogenated to give a ketone ep
C) A tertiary alcohol is thj.rdrngenale.;i o giwT a ketona L -){,51. -’_____..-‘;-:
D) A sccondary alcohol is dehydrogenaied 1. give a kelone U X
37. The general reactivity of hydrogen halides with alcohols proceed in the order; 0
A1 HI<HBR <HCl  B)HClI=>HBR>HI / [ v ’
C) HCl < HBK < HI'¥" D) None of the above ‘i__r______,

a3 der

18, One of these praperties describes a phenol adequately, £

. / =
A) I readily soluble in cold water ©, B) Itis slightly denser then water - c—{,
C) It is fairly soluble in ethanol B) Itis less acidic than alcohols O & -
: action of phenol; . J/\r"-%
pse 15 not a reaction ol p N § P 1 - 1.
39. One ,('.}“h  p) Halogenation  C) Sulphonation D) Carboxylation 1.~ G0
AL R ater or dilute acid, epoxyethane does one of the following, -
40. Whnen warmed with W el B) s dehydrated 10 ethane
A Is hydra[gd 1 ethylene E_}"' D) Is dch_\'dmlc‘j ta ethyne " B < § ],._-_{3
e hvdrated 10 tetrahydrofurEt Tq 2xof
C)ls hydl'd.l g &)
aalli
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B 814G g
VR ol IJIL.l KA VNS A v DEFT.
PAR AN ) 'UM&MUQTMLP s Pva b o s
18010 CUND SEMBSTER Exmmmrlllgir}:l{ ' Eﬁﬂgwu S | Y.
N2 IABIC PRING, OF ORG ' '
\NSWER ALL QUFSTIDNS MCCHFM SO,
[IME ALLOWED 4U‘MIND TES & e
INSTRUCTION; w. { y wrly
Jrlling 1o perciL ngli Bm};gil;;nswer in “.m spyee l:rr-uwdnd below each q

...........

Stion. Mutilation ar

I ]

1. The GHLL.UIEIIE‘-d relative

R ! ft i
o ‘ Q)vn:rla pmg power ::Fsp aton-u::. m-bm].]g'; P ?; t ‘E“ [ {
(A) 1.00 (B) 1.1)1 {@P/D RN

93 (D) 2°60 '}F l°\1
2 S ""e.a-ﬂ"

2 [ = ——
I the overlap of the Iwo atomic Drbllais BIEHE tak:n .place alnng ﬂ-w.lr major axis (head-head), the J

'
=

resulting vonding molecular orbital is called? - i

iR ST . [ ] «

(A) p-orbital [\]B{Sigma—nrhital (C) Pi-sigma m-bitai-‘tD) Pi-p:"nrhilal o

. U__L !

3. Two firror images that are not super- mpusaht 20N pac‘h olhcr Bl'l: nal!cd? [ ] zfif?
Oy f

(A) Asymmttnr_ unage.s (B} Dexnammlory _nanubmcrs.. } Dmstcrmnsomers

A

a, Tht’- 'pilf\ nf urgamc molecule rwpﬂnsjhla [or I'gs nhc.wu al) raa..;hwtv s’ cullcd'?

(A) 'isc.mensm (E'} Taummm ism Func!.mna] L‘unu_p (D} I'Inmologucs serics

{m Paper cl'u nn‘. _tog'raphy (B} Cn]um.n T ugal:nal
(D .AQTA ;5 e
1. L"anus mulhnd 18- used inthe detérrrunhtm
G pnunds EXGEPL ceernrrinninn s feshrn
(A) Sulphur- (B) Chlorine (C).] Iul:hn:
B Compound ¥ 152 liquid x-nthmhng,pmnl
67 "C, ‘which of the following methodsis th{l 1.165'[ for purifying. W—Y? : [ E
(&) aul‘lllmauon (B) fractional d;suliauan {E}} sigam-distillerion &) none of theabeve . | .
9, Tn theanalysis-of anorganic c0mpopnd by ne; Drumas method, 2 25cm” of niregen-was-evolved - - i
when 4735mp of sample was used'al 22°C° ard’ TH G P W s the weight afinitrogen obtained .
fram the sample? (Relative alomic mass, N-‘H ‘_-'l\J]IlI_TIL of 1 eofa gas at STP=22400cm’ 11 ]
(A)0.0042g  (RpO.0026g1 (C). 0.0255 - (DI'NOTA -
1n [ alculpsesthe percentage ofnllrogen iilhe aEmpI; in qucslll}
B¥30.71% 0 (B) 61.0% . Q) ﬁﬂﬂ?,‘n”_’

g c D - - -
C botde mpus::slnn healing at:lemperature o ut‘aboul

o s e . e s

1 “.nnp!ylhc product(s) of the fn!'lnwmg rem:l.tp, " [ 1 -
CH40IH,GHLCH=CH, Her MEC'H?-C‘ c‘%fi‘.% ? H e i
'1 - '1 (_Il{?mm ll .. F
. tf‘\.‘ Gl'iaf”'leCH?CHgCHa WzCPIFCHHFLH& i l‘ Ls‘ e ~ »
() C1H3CHCHRCHBr {D}CH?,GHZCHEHLH:GH:, . L= Y9 1 52715k
' X -1y .
12, Complete lh: following reactions : . : _ [ ] o S
3 ey B 3 -:: > ? ‘ .t
s Y L - 31380=> oF
() e LA
5 e P oY f 2 1 -y - -
v~ e a S f\("‘:? -
{ME‘-] 1B (1} ‘/ . N ;I v T; - X2
7 — 7 7 - A 173
N .
Sk o ; 24 /
11 Ananpe the Tollowing allcyl halidés in incresing order of their boiling points 295X 14
CILCHF, CHiCHal CH,CH,C and CH,CH,Br 1_. = Hed
(A)CHLCT,CL > CHYCHyl > CHyCHGF > € Fcn,n.. F B Lt g" -
) )
\/ f’;. J.ff:n-i,l > CH,CH,Br > CH,CH,CI > qcl,m-l,r-' 7 :;), ;;!;:ir
\ : et
(C) CH,CH,Br > CH,CH,C) > CH;CH,F > -JH;CH,l ) (f/ [ZR¢) £ - L+ LI
) FQ ‘-.l:) .':_‘ e “ - 5_
YL » CHLCHLC = CH)C“]BT > LH_‘IF-H}I r‘k I‘s& e f‘._.\ : " |‘l_, L ?
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2l &4 (X )T A

(' Name the seactant labelled X in the following reaction.

\

X+ HCI 4+ Hy0 + CH,CHMeGl— CFi.C (CH3)OHCH,CH; * MgClh

Ether
(A) Propanone (C). ethanui | '

(B) Butanal (D) NOTA

31 CH\CH,CH,CH=0 + CH,CH:CH;NH, —~£——

(A) CH,CH,CH,EHOHNHCH,CHCH,  {f#) CHyCH,CHaC=NC3Hy
(C) CHyCH,CH=CHNHC4H; (D)}AQTA _ ' [ ]

% R : . i

12, Which of the following is the odd one

(A) Leugkart reaction (C) Meerweip arylation

1
|
i
i
|
i
]

"l:‘gl,'i;fétlpmdl rearvangement
B R
11. The reaction below gives

(D) Hofmann's rearrangement’ =~ i [ ]
N I LIAIH,, Ac,0 " e
. ;gd _ I, Hy0° o _ Sl =20

() Cyc]n!ﬁm;amine (B) cycluhexann.i'i: aciti {CJ'hmzc.nm‘runc m]nyclnh'cxanﬁmide - _ [ 1

% » . '8 oy £ L !
far )Th: ‘reagtion of benzene diazonium chloride with berizeng in the presence of sodium hydroxide to
. gliw: Biphenyl istalled@e -~ 77 : P,

- " [A) Sciemans reaction (C) Gattermann téackion. -~

{#"1.5.andnmyi=..riycaclim1 -('Dj'Gumh_trg—Buzuhmnﬁh:f_ca_-ctiDn - ‘ [ ]
5. Asrange the following in order uf_inurnasing.l'mmq._ii‘i),:{i_g_,al._ci].@ipus phese.
M N'-plapj':{-] utanamine () MN-dipropyl -f-buléﬁiﬁih’é '{ﬂf} J-butanamine
() men<l " I
6. The boiling point of ismmf..—lic alcohols.changeg in li}];,:ulr_l-};r]j_cr- _LE‘tl..cci _bs-ll:tw‘,

. l'{:\l;\'gé{fl“ Soes v [ )

(A) I<ITI<T (CyIeIm | (DY PSS ¢ d

(A} In:" }u) zn (-B)ZD}!B-_,T]. (c}aﬂ‘{:ﬂ:

37, One of the methads of lh:-prcpararlon of pherolginiclude th: fn]lowing,-

(A) Fusion. of aromatic acids With ellalis () Fusion.of aromatic sulphonic atids with allali (C)
Fission of sulphonic acids with alcohols ('I:ﬁI)!ll\Tg-]_-_i,:-qf'_the above - Sl R Ry
38. One of these statements :"S'F'Ijua of the dehyrratien of aloohols; a RN el

{A) 2" alcohols > 1* alcohols > 3° alechols ._;\‘Q.—.l—"‘ii‘lcqhuls‘:f?.' alcohols > 3° alcohols

(C) 3" alcohols > 2° aleahols > 1° alcohols (D) Nurie of the above [ ] Wl

19 Elhers shiow basic charnclers because of the presence of one of these;

(C) The OH group

(A) Thie posilive ph‘;g;}u_ﬂm oxyger{ atom  (B) Tiic-;wq!pluuﬁc acid in the reaction _ ‘ |
[p) : #

in the coimpound he lone pair of glectrons on the oxygen \

40" Give the comyplele reaction conditions and prudust of the following equation

H,

CH
P 3

(NyTIE and (CHy)C=0 (B) HCI and CH,CH;COOH  (C) HySOrand (i1, C-C
(0 HNO, and CH,CH,0H

H

+ Q@EOCHJ
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mml 3
Y CHycoongt TCMy Cog Cll i, 7MY
AN

WY EHCO0CH, (8 CHyCOCH, CH,

(Cye HyC Ha EOEr {B‘)/CJ-I;,CDOCHQCHQ
15 A suhsnlutmn n h

v

ubstit .
W 1tution nuc]caphillc lemnlcculal‘ (C] suhsututmn nucleophilic halomolecolar

B) su
) hSELt'unDn nucle_nphzhc bumlecular (D) subsllmuun nuu]eoph:hc heteromolecular.

16. The cmmncai A ""-nuln of a-h

ydrocarban cunta
{A} CH 5 CHJ (cy C;H, oce I-I'llng 0 12 mole of carbon and 0.36 mole of hydrogen is

l'l Whmh ol’ the types uf hybridisation gives nar,' 10 chrah:draI mu!ec es? (3'3?1\
!‘.Nj' sp (@ iph- {C‘; Spd Me of the ahcwr., :

i 9. Cyc.loallcan:s have the same general molecular fummln as

(A) nH(anc.s j’ﬁnuamgnu (?3 allymes {'D} almumm.a. ;

- % e < -——'“Fll i N i S 1 L i
b : i : CHaCH, - R AL L S ] : =y = !
ke i d e . o oo |
O-0 - O i SN vl
R i e 1 ' . N S —
i

35 'v s}{a;c (A): Nifts0 °C (B): ‘Bru/FéBr; (@) Br;?uvhgh
Jn-thu I’ullnwmg r:at.lmn below what is the rcat:mnl1abclcd

; (IICGZ]Z Ca-—-—l- 2CH3CH2[‘ CI'+

-'f,){rmr,n,roor-ca ' L‘B)(CH,CDD);c:a e
1f“'| fii fH{UI,}CD );Ca ‘Nnnenfﬂlcnbu\rc ek

’°".°r U'lﬂ Eﬂld chlonde bc.low whal i thl: product marki'd Y'?
BER0. -+ ¥+ HEl

C:,H;C@OI +H PHERE RS Cotte o el PN - f-u* ff"“'d
-t L' [ v ____————-

(a) CH,CHG “ ' (C)CH,CH;CHO : o | .

(6], CAH,COCH, | - @)NQTA o E‘EL_I_-S ;

28 Nome the hutanbme which ISIEI'I 1somcr ul' CH,CH[CH ,)CH&COCHa

{A) 2 p:manunc I (C) -ml:lhylbu_lan-l-un:. . :
(B) 2-!11B|l|1y|bulnrill-ni1t. o ! )NOTA . ) /,é
29. Represent’ lhe pruﬂul:l of this reaction? "

CyH :.CHC[; H;DN! BQH

I:J‘\} CnH;COCH)I I:CJ CgHs{:DCHi
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ng =M P 2 U o ~

’ ' ) e !
6 Mow  many  prammes ol I”_]'l can “be - prepared by burmng 77, 8 B I r/‘ if‘
V U\“; 00 (B) 132 (L.) aa (D) 22 i

Lhe reaclion wiilhi

11/ Alkengs + i " ve  differentiated  from  allanes ‘by |
Km0, (B) 01 (C) NaOH (D) HCI v LA
. W Geomelric isomerism can ' be shown by all excepl
v il Cu (8) Cibiy (©) CitiBr (P) Caby o 9i)
# ” s 4 e 2 1, ;
Reaction with " gilver . salt sgh}’és dlslmgunsh
y L[ Wl propyne from propene (B) ethene from ethane. ( C) benzene from hexane [d] none of the above [ ,fj‘_
b } “ ; | ‘ T " %
30, Halogenation of " afkanks prld'céaﬁ':s- AN which - mechanism? o
LA substitution @ free radical ( C) elimination {DJ ionic .+ ' [ :] - -
i b L
il What is e syslematic name of thu ulganm cr::-rnpnund CH:C[CH;]:CHzCH;COOH QH'-)H' d’gﬁ
(A)4. u‘ntl‘lﬂpamanmc acid (B)4- mathylhcxannm acitl (C}ch&nmc acid j?(Nrmc of the above @] ’_'j‘; ar e
2. Undar whal condition would the following conversiim talke- plw-’? . oo o i 2l
CH (“HQ[-ICH;CHO CH,CH .cHcHO © T 'H‘;,U v [0,
(/{He:-at (B) NaOH H;ﬂ Zn- HgJ’HCI H, O (D) None ofthc above _ /_\.] FONNY It I-{
__‘_ f } -
33, What js: the pmducl labelled Y il the followirg [qaclmn? ) ) . ’ . I{ /]I _
CHI,i:He&-}Cl, L LY - Y . ]Hq}f_m y
(A) CHLCICHE . (B) CHCL,CHO* (g CCHCHO (D) Nunaoﬂha ahove [ .Y, \:._--:nl .
34, An nrg‘anir;.-‘nompound-(} rcécﬁ;:viilli LialHa Jr-rth-y .st!\,ar so[utmn tD gwu putan-2-ol as helow. Wlhat
is G? : ' : = . ,}-' :
_ . b K
- !: - A ,L_.‘n-_i 1-—; B =
__LIAT, _~ CH, Gh,CHDHCH i) k na”
Dry ether, sclution ( :
' . = H
(A) Propanone (B) Bulanai ( C) Pentanone - jNﬁ:'ir':.ﬁfthﬁabuve ()
s I
35, A carbonyl compuund reacts wnth X as repres: ntt.d below Name X .
H,0"
CHCOCH # X ——* (CH'ah’C=l\'—'.LHzGH:"-.f_‘l;h:Q _ o
(4 Ethylamine  (B) Propylamine (C) Mcthu]nnﬁn‘é‘ (DY None of the above - L.P\T:]
36. acid anhydnde conteins whic]_r ¢ of (the functional groups?
(A}-COX (B)-CHO {cﬁcooco (D)-€0R ()
37, Wihich . ofy the “ollawiing > is out of place!
(AYH,0' (BYND: (§rHO" (DR i o )
' ' - gl the same n uestion 7
38, What  ore other  groups, it & quest]
{A]Nuclcophlles (w[cmruph.iles ( C) Radicals’ (D\ L.arbucaunn : [12_)] '
pheskvl—s

19. l How many none  bonded’ clpstrons  we  there in RMH,  end H,07
N T!
v Twn and Four (B) Two and TWA( C) One. F‘ﬂd TJ"""E'",\R ) Three a"d Four. [N_

40 Which  of .. the h"nwmg 1,-, ot Bmung lh: structural  isamerism?
: npsition isomerism (D) Functional isoMmerism [Y\] ;-:)—

'1."/ (@Y Optical isomeris i B) Chajn |some.r|sn1 (C)
.ﬁ_,q_gwrm.-!-u TPM ]

-n_______‘

"“:-:"‘,'“‘\ oA \’ |- e ?rq-h,-::;a: *U‘\_
' ]

[z__

o LY
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e e = e

) o A VLN ) I L /vt LWl TR i
NI A NIGERIA, NSUKI A 00 r B CA)
bl -'wl-l NEOFPURE &, INDUSTR AL CHEM, Dmf ------------ i,

d HUNI)ULM[Z'STER EXAMINATION REG, NO,; ..., "

SIXRER HMILPUNC 0 “’#' SINCLE e (
\NSWER ALL QUESTION FORGANIC CHEM, ./ . 516N

[IME ALLOWED: dUM‘[NUiES.

L¥]

[NSTIIU("TIDN Wrile yuur answar in lies

pncu rmrlrled be
wrnmg i peicil is not alloweq F low each question. Mutilation- or

4
.',.
1

agent&cannutmldlulcmuty amines? ' - g
(A) H,8 {a}o (© i £ ;
5 }Hzozx, KMnD B0 '
% ) %‘ 4 ‘ ? . | .?['_.’]

Use the mdwunn bclﬁ‘w f@ answcr qucsnuns 2 :md 3 !

I, Which nflhe fulluwmglmdlzmg

. * -"- i
K . Hg! AIPRREAT WO : ]
' Ry + C, ___...af;____ﬂﬂt,,,..,ﬁ\f.,"L -
= - ‘-' My J_ al ll' ’

& A LN the: 2 Bquhﬂon ‘E ahaw ©os 2.

(A} Thiocarbamice acid"'@ dlthm-:.mbamlc amd (C‘] allqal |5.r-tl1:c..)*anal¢ (D) NOTA [E:..]
N3 AB oo im0 't'hc aquauun :'buva Ll ii"?- o idisprimasiine S : 3 :

{r\j ';}uaLernmy ammorium saft {B) No Teaction: fC} allkyl* . isothiocyanate ' Sy
(o) Dua'- rasy ammoniuvm hydluxlde ; - 1 [:’E.}] ' !

: ' i L
hoA4 Avrange,  the. full!owmn in nrdar df dhcrnaslng dasicily in paseous phase™ .
(1) M. MN-dimethy! methanamine.” {II} ‘N- nmlhyl meﬂmnuﬂnnc rL'II‘} N, N-diethy! memnanamine
(A) U1 (BYI<I<I (O M>I>T Byt P

5. The formstion ef  cnamigs from ssudiida:y- AMiNEs - requires
(A) Water (B} aldehydss with a-hydrogen (C) nldehydcs wm]mu‘ - Wdrogen

(D) Mdchydcs with fi- hydrﬂgam g L5y : ) [;L_';J -
b. Supply lhs-pl_‘pducl(s) of the fﬁlléﬁing-méc[iun# i// 2
o HBr . L ; |
W CHC CHECHy e & , Lt
- F/ . e - y k
CHyCHCH,CHBr (R CHaGH,EHBICHy = .
e

=

(€) CH,CHBICH,CH;, (D) CH3TH;CHZBCH; -+ ' \?}E( [}ﬁr}

7 Cmnplntc the I'nllnwmg rtaclluns

",. -~ ‘ '_ Lz‘H}f-/Hz C-H‘ D Yo + L,HSC—H B _-
he - ‘,ﬁ' + ?_—-‘.- + Hﬁi i I: . ]
W 4 heat mmz : Qf-l—iuﬁl c.J-i;,_D i, l.£+3 1. SerBr
i (C)HCI \""-7‘ ; -
(AYNadl - I_BJ H Clz ¥ 1 [-'ﬁ'j]
B, Alsogs, “the. 'fgnuw'.l-.g allyt  hslides  in .udmasmg older o7 ther boiling  points ) LZ)
CHyF, ; § '_.(;H]L s " CH. C'? ! and. . CH)Br
. (A} CH;Br < CHyF < CH;l <. CH § ) < CHyF < CHCE < 'CHyBr
(C)CH,Br <CH,€l < CHyF <CH,l = [fCH,F < LFT%IMCH iBr <CHl - )
. L.
9:Supply the products of the féllow,ng /eactions P )
ot ’ 2 ! R & "_"EA"/ Z- A DS s v
CH,CH,br + CH3CH;CH Ol —— o CH‘;:ZHLCE.'_N?I!;CJH., PR " }
',' Canfe ™ [ oo ",.1' HC"“"
L B U b [ L]
Vo CH3CHyOCHRCH; (B) CHACH,CH,CH3r0Hy Bz "{ b _"
(C) CH4CH,CH,ONaCH4CH- i&({l—hﬂl—f..nh.nr:h- CH- -
w.ﬁ - = "'—"ﬂ'__'." s
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Lntiation teaction in which pere is simultancons loks ol the eaving grovps ¢

|”||p|||r,p“|.|rl iar

i | H ' wlie
AV ehmmation unimolecular elimination bimolecular (%) elimimahion

1
Y oneof the above, . '| !.-

11 Wiich of 'the Tollowing lcfjgcutr. is required. it the duc:lmn nhmhun i un[,,lrrnr rulnprmmll
[AY Sodim metal (B) Copper motol Mum hydroridu m‘ Mane of the above @S| {J

Ma ' fo Leyk rf'w 4 {)J s pd '

12 One of the: (ollowing is a carrier gas in Gas- LIE!,_Ll.ld chi mawbruplw
wr‘?;ﬂ

v (A} Oxygen m] Chlorine  |opdsfrogen oxide [Q@one of the'above

J ™
Cu»’(]’gl‘tfr S HL{\IJ(..l‘IELt ﬁ '?’r"ﬂﬁ” ‘“‘d ¢ o l’?‘rg-f

In“lhin layer chromatograph oatffd plalu i5 dnod in an oven in- c—rdcr ([ ey

| w7 (A) increase the surfoce area

! 1d." 0.1344g of an orpanic compound was anai_',sed by Carius method. After filtration and drying,
| v 0:1204f of BaSO, was obtained. Calculate the percentage of sulphur ih the organic compound. {rclatwa

. . nlomicimasses: Ba=137,8=12, 0=16) (A)16.59% (94[:]2,.15% ()57 (D)NOTA )
[Tl :uu{
& What.is the ‘gmperical I'r:}rmulﬁ of an orgamc compound with parcentagc compasition of 40.0%
' ; c.arbon 6.7%: hydmbl:ﬂ and 53, J% onygcn'? @LH;O (BjC;H,O A{C) CiH,0; (DY)NOTA | }“\]
Usc 1|m:. s:..qut‘.m:t' nf quy,clmns given below lo answer the following qucsl:uns :
[ . .
| . CH; i .
\ ) HNO3/H2504
P O szzo,f HE : i

18, nmgml‘rn (A) HNOjy (B) CH,CV/H,; S0, (C) CH,B1/FeBr; (D) CH,B/HCI d-ﬂr-'»‘"[c"_’.‘

25. e of these stalements is NOT true about (e esterification reactians of alconols; P ®7
(A '}r\lwh':lls react wilh scid anhydrides o give esters
w3) Terlary ulcnhols react with acyl chlorides 1o give eslers

) Primary and secondary olcohols react with :rhaxyhc ueids m pive eslers -
(D) None'of the above . (1<)

17. Pmr.m_l s (A) d-bromoeaniline (B) 4- hramamlmbr.n..cncy) 4-bromobenzoic acid (D) NOTA['¢", :J

.
& \F
r F\:)‘
la
Mo b3 2
- i
¥ B LB
gy - L’
LJC*GJ__ \

CQOH ..+ COOH .. - ceoH | ¥
N~ e 504H504H L _
T aPioduct s, (8) G ) NoT
AR ) _ P .
W 2 .Y TEosh. _---._T'I"L“SDJH .
< B Br '._-_ar_ Iﬁf !
. 19 ngmn(s}n isfare {@) chf uv Ijght [B)CMJ'FGBI;LCJ Ch/K:Cn0, (D) ACTA [,2\_,;
20 Tm: t]e: trophile in'step Y i (A) HSO rmn,o )E)ND\ [D}AOTA - () Lol © 7
: When warmed with-water or with dilute aqd :powmlm does the fullowmg, I
o rht {,A}E‘Ehydldles 1o ethylene J,I)cnl : E/_H,'ura'cs to  ethylene  giycol ’
%7 .. .- . (C) Hydrales to Tetrahyrofuran, D}ana'nf'ﬂic ove [fé]
) ?? On: of the eamiments siated hcluw is NOT ¢ GLII..U.;I. about the test for alcahols; . 1 Q.{r‘ ZNCB S
(ﬁ.) ) sccondur}r sleohol is dehydrogenoted to give a ketone when passed over heated copper, oL y
£ 0 B/ primary alcoliol docs hot react appreciably at room temperature-with Lucas reagent./ e Sl fon it
X fA LA su.un-:hly aleohpl rgacts with Lucas reeer? to give t :3: alicyl chloride within 5-10min .--‘-?:_‘},"_J;T"‘?’}r‘
o AR leriiary. alcollul isi dt.hydrogmmlcd 10 gw" a'ificene witen passed over heated copper [ ' o0 3l ff/ S
- Wl - g =
l'r o A iy, n by |1EI|[dch with alcghols f'nJlothr. nrdcr _ G H "J{J
P ) =-!Bncm<1jcl B}lIJ<HBr<HCI GD“HCI <HBr<HI B§HCI=>HBr > HI b
M, Cnn\nl::lr: {he |t.=:r:l|un cqpulmn slattd below; - o 4 A -f'j' C“"‘f‘"!r“"."'d
"“ (;I—I E‘H‘D C"r? S r\merCHC+|]0H ) ( : QPT
R e R | e
- '_.'I;"CH:MEBF H;0 B)Naoi m5101-| M0 € H;SD.rI-hD D) None of the above | A
Tt i 7 H </
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